122,000

105,000

10a

)

)

7 10 |(C)I 51

()

)

3.1

)

€))

1,160

200

&)

1,000

1,000

1,000

20

®

®

105,000

10a

10a

10a

*)

(©

)

®

100

100

100

100

C))

106,000

-0.9

10a




1 -2
()]
NO
85
15
11105
98
15
11106
20
10
10217
1,100
220
10301
NO
10a 10a 10a 10a
100 [ 98.7 100 100 0.0
97,000 | [100.0 100 [ 95.0 100,778 [ 93.1 108,247 0.0 108,000
100 [ 98.8 100 100 )
84,000 | [100.0 100 [ 86.5 95,945 [ 91.1 105,318 0.0 105,000
100 [ 99.3 100 100 0.0
90,000 | [100.0 100 [100.0 89,370 [ 87.0 102,724 0.0 103,000
100 [ 99.5 100 100 )
85,000 | [100.0 100 [100.0 84,575 [ 82.8 102,144 102,000
100 [ 100 100 [100.0
[ 100 [ [ 100
NO
T T T T
0.0, -5.0| 0.0 -1.0| -6.0, 0.0
-0.13f "~ """ - FTTTT T il W FTTTT T Sl
0.0/ 0.0 0.0/ 0.0
T T T T
-6.0| -8.0| 0.0 -1.0| -8.0, 0.0
-0.13f " C T Sl T b
0.0/ 0.0 0.0/ 0.0
T T T T
0.0, 0.0, 0.0 0.0, -13.0, 0.0
T ] T el T b
0.0/ 0.0 0.0/ 0.0
T T T T
0.0 0.0 0.0 -1.0, -12.0, 0.0
-0.13f "~~~ """ - FTTTT T il W FTTTT T Sl
0.0/ 0.0 -5.0' 0.0
| | | |
| | | |
,,,,,,,,,,,,, S
| |
1 1
105,000 10a




)

-1

©
=}
o -
S
S
—
X
X
x
o
<
x 2
o
S
=1
=
£
~
Al
= ]
<
a
53
c | 7+
—

-2

T T T
I I I
I I I ~
I I I
I I I -
| | |
I I I
I I I
I I I
I I I
I I I
I I I
hl ! !
o | | |
S I I I
o
I I I S
| | | -
I I I
I I I
I I I
I I I
| | |
I I I
I I I
I I I
hl ! F=a- 7
| | |
I I I
I I I
| | |
I I I
I I I —
— — — I I I
I I I o
o o o I I I S
o o o | | |
— =1 — —
— — — I I I
L L L
I I I
= = o , , , =
o o o ! ! ! o
— — — | | | —
— — — | | | —
I I I
I I I
— — — I I I
I I I r—
o o o a L_J L_oo_
S S = | | I o
o
— — — I I | =]
I I I —
| | |
I I I
I I I ~
I I I
8 8 8 | | | ~
— — — | | |
| | | dl
I I I
I I I
— — — 4 L_J L_oo_
I I I
o o o | | |
S S S | | |
— — —
I I I
I I I
I I I
I I I
I I I
I I I
L L L
]
o o
= © o 3} = o [3)

-3




©)
-1 ( )
+ (1) -1
10a
10a 10a 10a 10a u: 10a 10a
3)-2 ( )
»
+ () -1
10a
10a 10a r u
L1 L1
100 100
x 1 x 1,000
x a + 1,000 (1+r) ( 10a)
m: r: 10a
a:

(3)-3




